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BCQ/D-20 26102
INDIAN ECONOMY
BC-506(i1)
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
Attempt any four questions out of remaining eight
questions.
dy ikp i'uc d mlkj nift, A i'u B[k 1 viuok;
g A"k viB ituk e I fdigh pkj i"uk d mlkj nhft, A

1. Attempt the following questions in brief :
(a) Write short note on water conservation.
(b) Meaning of Dry Land Farming.

(c) Meaning of MSME.

(d) Discuss the nature of services.

(¢) Meaning of income inequality. 5x4=20
furufyf[kr i'uk d I{ki e mlkj nhft,

(V) ty {1 BE{kr VI fyf[, A

(©) ‘I'd Hfe Nt dk VA

(1) MSME dk VH

(n) Mok di iNfr ok o.u dift, A

(b)) wk; vilelurk dk vF A

(3)L-26102(TR) 1



Explain the concept of infrastructure. How are economic
and social components of infrastructure related to each
other ? 15
v/iljpuk dh vo/ij.k db o.u dife, A v/kljpuk d
VitFd rrik Liedfed 2vd ,dé&nlj 1 dl Icf/r g \

Give a brief account of agricultural marketing in India.
What has been the role of cooperative societies in this
sphere ? 15
Hijr e Nf% foi.lu dk I{lir fooj.k nift, A bl {i e
Igdijh Ifefr;k dh D;k Hfedk jgh g \

How is contract farming beneficial to farmers and
contractors ? Explain. Also explain the limitations of

contract farming. 8+7=15

fdliuk vij Bdnijk dk wucl/ Nk yitkdijh dl g \
0;k[;k dift, & vucl/ Nf% di Thetvk dk o.lu dift, A

Distinguish between cottage and small scale industries.
What is the importance of such industries in the Indian
Economy ? 8+7=15
dvhj rfk y%* 1elu d mixk e virj Li'V dift, A Hijrh;
VFO;oLFk e bl idkj d m]kxk dk D;k eglo g \

What do you mean by service red growth ? Explain the

main service sector areas in Indian Economy. 7+8=15

ok rFik fodkl I wki D;k Be>r g \ Hijrh; WFO; OLFk
e 1e[k lok {ik dk o.lu dift, A
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7. Critically examine the changes in the direction and
composition of India’s exports and imports. 15
Hkjr o fuskek vig wiskrk dh fn®i rBk Bjpuk e ifjoruk
di viykpued iji{i.k dift, 4

8. In a mixed economy like Indian economy, are inequalities
of income inevitable ? Give reasons for your answer and
indicate how taxation can be used to reduce economic
inequalities ? 15
Hijr; VAO; oLFk tlh fef kr VvRO;OLFk e wi; di vieur,
vifigh; g A viu mlj db dij.k nift, wij crib, fd
ViEikd vlelurtvk di de dju d fy, dlI dji/u dk
mizkx fd;k € Idrk g \

9. What do you mean by inter-state disparities ? Discuss the
main indicators of inter-state disparities in India. 5+10=15
WUrjiT;h;  vlelurkvk 1 vk D;k le>r g \ Hijr e
wirj&jiT; wvilelurivi d tefk Idrdk dk o.lu dift, A
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